

December 28, 2013

Ms. Grace Williams, Principal Holy Cross Anglican School PO Box 59, San Pedro Town, Ambergris Caye, Belize, Central America

Dear Ms. Grace,

On behalf of the Holy Cross Education Foundation, I am pleased to inform you that our funding goal to install a second set of solar photovoltaic panels on the roof of Holy Cross Anglican School has been achieved. Our generous donors have enabled us to purchase and gift to the school this "Phase 2" system valued at a total of \$20,484.75USD.

Based on the performance of the first of these systems over the last two years, we expect this second system, which consists of twenty (20) 250W solar panels and peripheral equipment, to save the school approximately \$3000USD in annual operating expenses. Over the 25-year anticipated lifetime of the system, this will yield an approximate total savings of about \$75,000USD, enabling significant funds to be re-directed into critical programs such as feeding and literacy.

Our current plans are to ship the system on two self-contained sea-worthy pallets to arrive in Belize City in early March, 2014. We plan to time the arrival of the pallets in port at Belize City such that the proper duty exemption form(s)/letter(s) have been obtained prior to arrival in port. This will prevent unnecessary dockside holding fees, so that the equipment can be immediately claimed and placed on a barge for transport to Ambergris Caye and delivery to HCAS.

So that you do not have to worry about the duty exemption process, Ms. Lydia Brown will coordinate obtaining the proper forms and signatures. Attached is the complete shipping and supply list of items donated to HCAS. Our donors will also pay for the cost of shipping from the US to Belize City and then via barge and truck to HCAS.

Our supplier, Baker Renewable Energy (BRE), will be sending a team of installers to accompany St. Michael's Episcopal Church (Raleigh, North Carolina) volunteers the week of Monday, March 31<sup>st</sup> – Friday, April 4<sup>th</sup>, 2014. BRE will oversee the installation of the panels at no charge to the school. Our current plans are to have the second system connected and providing power to the school by the end of that week.

Once again, the Foundation is very pleased to support the long term sustainability of Holy Cross Anglican School by contributing to the expansion of renewable resources at HCAS. Should you have any questions about this project, please do not hesitate to contact Mr. Brian Ostenso, Board Chair, or myself. I look forward to seeing you in late March!

Yours sincerely in Christ,

shon matte

John McHenry, Member, Board of Directors and Solar Renewable Energy Project Manager Holy Cross Education Foundation Email: john.mchenry@baronams.com Voice: 001-919-306-3659

cc: Mr. Brian Ostensocc: Bishop Philip Wrightcc: Ms. Linda Carter, Office Managercc: Ms. Lydia Brown, Volunteer Coordinator

"Nourishing the Mind, Body, and Spirit"



BAKER	BILL OF LADIN			NG			
Baker Renewal Always good work, at		, always good work!					
517 Mercury Street Raleigh, NC 27603 919.334.6951 www.bakerrenewable.com				December 28, 2 7514101	013		
SHIP TO	Holy Cross Anglica San Pedro, Belize	ın School	BILL TO				
ORDER D	ATE	ORDER N	UMBER	JOB			
					Holy Cross I	I	
ENV-120-03	Envoy Communio	ations Gateway, 120VAC	, w/Ethernet Bridge		1	\$732.00	\$732.00
TSM-250PA05	Trina Solar 250	Poly Module, SLV/WHT			20	\$347.00	\$6,940.00
M215	Enphase M215 Microinverter, 240 & 208VAC, MC Connector				20	\$250.00	\$5,000.00
310208C	SM Rail 208" clear				8	\$115.00	\$920.00
302004C	SM Endlclamp D, w/HDW, CLR				10	\$1.25	\$12.50
30210C	SM Midclamp, ABCDK, HDW, CLR				40	\$1.50	\$60.00
3080015	SM Cround Clip #1, UGC-1 SS(Module Weeb)				24	\$1.45	\$34.80
303001C	SM Splice Bar Serrated CLR				6	\$3.50	\$21.00
BNDJMP6.7	Wiley WEEB-6.7 Bonding Jumper for Grounding				6	\$8.50	\$51.00
0080025	Wiley WEEBL-6.7 Grounding Lug				6	\$6.50	\$39.00
304000C	SM L-Foot Serrated w/HDW, CLR				40	\$3.25	\$130.00
S-5 PROTEA	S-5 ProteaBracket(for trapezoidal profile)				40	\$12.50	\$500.00
HEYCO-SR	SunRunner Clip				100	\$0.65	\$65.00
HEYCO-SB	SunBundler 14"				100	\$1.25	\$125.00
ET-CLIP-100	Cable Clips(100 per pack)				100	\$0.75	\$75.00
ET10-240-BULK				\$710.00			
	Rail Mounted J Box Bracket				2	\$12.98	\$25.96
ET-TERM-10	Branch Terminator				1	\$13.30	\$13.30
ET-DISC-01	Micro Inverter Disconnect Tool				1	\$4.89	\$4.89



SHC1036CR	3/4" Hubbel Cord Connector(Brown .5"63")	4	\$10.35	\$41.40
SHC1037CR	3/4" Hubbel Cord Connector(Yellow .63"75")	4	\$10.35	\$41.40
SHC1040CR	1" Hubbel Cord Connector (Brown .5"63")	4	\$9.10	\$36.40
SHC1041CR	1" Hubbel Cord Connector (Yellow .63"75")	4	\$9.48	\$37.92
	Pipe Boot	4	\$15.75	\$63.01
	Self Tapping Screw w/gromet	200	\$0.14	\$28.00
	Beutyl Tape Roll	2	\$10.00	\$20.00
	NP1 Caulk, White	10	\$8.50	\$85.00
CONEMT075	3/4" emt conduit (per foot)	150	\$0.46	\$69.00
CONEMTELL075	3/4" 90 EMT	4	\$1.88	\$7.52
CHNLB25	3/4" LB	4	\$4.06	\$16.23
CHN250	3/4" LB COVER	4	\$0.81	\$3.25
CHNGASK025N	3/4" LB GASKET	4	\$0.96	\$3.84
CHN661RT	3/4" Raintight/Compression Coupling EMT	20	\$1.06	\$21.28
CHN1651RT	3/4' Raintight/Compression Fitting EMT	14	\$1.06	\$14.89
CONGALCOU75	3/4" Rigid Coupling	2	\$1.02	\$2.04
CHNHGLL2	3/4" Bonding Bushing	2	\$3.35	\$6.70
BRT322	3/4" Bushing	4	\$0.10	\$0.38
MRLK45	3/4" one hole strap EMT	40	\$0.17	\$6.80
ITEGF222NR	60A-2P 240V Disconnect, 30A fused, NEMA 3R	1	\$65.22	\$65.22
BUSNO.263	Fuse Reducer	2	\$13.00	\$26.00
BUSFRS-R-30	30A fuses	2	\$7.49	\$14.98
WCUTHHN10STRWE	#10 White THHN	500	\$0.40	\$200.00
WCUTHHN10STRRD	#10 Red THHN	500	\$0.40	\$200.00
WCUTHHN10STRBK	#10 Black THHN	500	\$0.40	\$200.00
WCUTHHN10STRGN	#10 Green THHN	500	\$0.40	\$200.00
WCUBASOLSD8	#8 Solid, Bare, Ground	200	\$0.25	\$49.20
BURBIBD4-3	Polaris Lug/3 hole	8	\$35.86	\$286.88
P-SWPB33	weatherproof single gang w/cover and gasket	2	\$4.96	\$9.92
P-SWPB35	6x6x6 Junction Box, w/cover & gasket	1	\$5.25	\$5.25
CHMP1624L1125CU	Load Center 16CKT 125A MLO 1PH Nema 1	1	\$61.43	\$61.43
ITEQ215	15A-2Pole Breaker	2	\$8.53	\$17.06
ITEQ115	15A-1Pole Breaker	1	\$3.48	\$3.48
WCUTHHN12STRWE	#12 White THHN	500	\$0.45	\$225.00
WCUTHHN12STRRD	#12 Red THHN	500	\$0.45	\$225.00
WCUTHHN12STRBK	#12 Black THHN	500	\$0.45	\$225.00
WCUTHHN12STRGN	#12 Green THHN	500	\$0.45	\$225.00
CHNLB35	1" LB	2	\$5.88	\$11.77
CHN350	1" LB COVER	2	\$1.19	\$2.37
CHNGASK035N	1" LB GASKET	2	\$1.39	\$2.79
CONEMTELL100	1" 90 EMT	4	\$2.87	\$11.48
CONEMT100	1" EMT Conduit (PER FOOT)	150	\$0.75	\$112.50



CHN662RT	1" Raintight/Compression Coupling EMT	20	\$1.62	\$32.32
CHN1652RT	1" Raintight/Compression Fitting EMT	8	\$1.68	\$13.41
CHNHGLL3	1" Bonding Bushing	8	\$3.99	\$31.91
BRT322	1" Bushing	8	\$0.15	\$1.21
MRLK55	1" one hole strap EMT	40	\$0.24	\$9.60
CAR15007-001	3/4" liquid tight(PER FOOT)	20	\$1.10	\$22.00
CARLT43E-NEW	3/4" liquid tight fitting	4	\$1.28	\$5.12
HWDCR15I	15A outlet w/plate	1	\$1.47	\$1.47
C-ASS8	Receptacle Cover Plate	1	\$1.54	\$1.54
P-SWPB35	Single Gang Box	1	\$5.25	\$5.25
SS MOD BOLT	1/4"x20x1" SS bolt(mounting the m-215 to the SM rail)	30	\$0.46	\$13.80
WEEB-DMC	WEEB 9.5NL(Micro Inverter)	30	\$1.50	\$45.00
	Lanco and Harris 5 gal Pail - Finish White	6	\$95.00	\$570.00
	CAT V	200	\$0.46	\$92.00

Subtotal	\$19,189.46		
Tax 6.75%	\$1,295.29		
Total	\$20,484.75		

"Nourishing the Mind, Body, and Spirit"